NOVA
SRODULA

BUDYNEK = PARTER

B O
42,53 m’

powierzchnia

n SALON Z ANEKSEM 22,31 m?

KUCHENNYM
KOMUNIKACJA 4,44 m?
K svyrALNIA 1,56 m?
] AZIENKA 4,22 m?
[¢) POW. OGRODU ~40,41 m?

RZUT skala1:100
[ 5m | 2m 1m
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NOVA
SRODULA

BUDYNEK = PARTER LOKAL

B 0 M2
70,50m?

powierzchnia

] KOMUNIKACJA 10,76 m?
EAZIENKA 4,23 m?
K] syPiALNIA 11,56 m?
SYPIALNIA 8,31 m?

E SALON Z ANEKSEM 19,65 m?
KUCHENNYM

I3 sYPIALNIA 15,99 m?
[¢) POW. OGRODU 94,48 m’
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3] BUDYNEK PARTER
o {l_l B o)
68,81 m?
powierzchnia
] KOMUNIKACJA 10,58 m?
F1 svpiaLNIA 15,13 m>
EJ SALON Z ANEKSEM 19,67 m?
KUCHENNYM
] SYPIALNIA 7,58 m?
B sypiaLNIA 1,63 m?
3 tAZIENKA 4,22 m?
RZUT skala 1:100 m POW. OGRODU 46,52 m?
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NOVA
SRODULA

BUDYNEK = PARTER LOKAL

B o M4

43,51m?

powierzchnia

EJ KOMUNIKACJA 4,05 m?

EAZIENKA 4,22 m?

K] svpiaLNIA 11,50 m?

SALON Z ANEKSEM 23,74 m?
KUCHENNYM

[¢) POW. OGRODU 23,91 m’
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RZUT skala1:100
[ 5m | 2m 1m




NOVA
SRODULA

BUDYNEK = PARTER LOKAL

B ) M5
ROLUDNE 35,20m?

powierzchnia

7ACHOD
QoHoSN

B KOMUNIKACJA 6.26 m’

SALON Z ANEKSEM 24,27 m?
KUCHENNYM

K tAZIENKA 4,67 m?

[¢] POW. OGRODU -19,22 m’
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RZUT skala1:100
[ 5m | 2m 1m

3
|
1
L]
L]
]
i
|
1
¥




7ACHOD

pOLNOC

QoHoSN

RZUT skala1:100
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NOVA
SRODULA

BUDYNEK = PARTER LOKAL

B O M6
35,20m’

powierzchnia

Bl <KOMUNIKACJA 6,26 m’
EAZIENKA 4,67 m?

K] SALON Z ANEKSEM 24,27 m?
KUCHENNYM

[¢) POW. OGRODU ~36,17 m’
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53,96 m?
powierzchnia
] KOMUNIKACJA 6,17 m?
SALON Z ANEKSEM 22,00 m?
KUCHENNYM
K] sypIALNIA 9,62 m?
SYPIALNIA 1,81 m?
B tAZIENKA 4,36 m’
[¢) POW. OGRODU -58,77 m’

RZUT skala1:100
[ 5m | 2m 1m




NOVA
SRODULA

BUDYNEK = PARTER LOKAL

B O M8
57,33 m?

powierzchnia

RZUT skala1:100
[ 5m | 2m 1m

] KOMUNIKACJA 4,78 m?

EAZIENKA 4,36 m?

K] syPiALNIA 12,44 m?

SALON Z ANEKSEM 23,41 m?

KUCHENNYM

i' H syrPIALNIA 12,34 m?

@5 [¢) POW. OGRODU ~126,41 m’
_




RZUT skala1:100
[ 5m |
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NOVA
SRODULA

BUDYNEK = PARTER LOKAL

B O M9
56,70 m’

powierzchnia

Kl <KOMUNIKACJA 5,89 m’
SYPIALNIA 12,34 m?

EJ SALON Z ANEKSEM 22,71 m?
KUCHENNYM

SYPIALNIA 10,96 m’
B tAZIENKA 4,08 m?
[¢) POW. OGRODU -71,83 m’
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| 53,96 M>

powierzchnia

] KOMUNIKACJA 6,17 m?

EAZIENKA 4,36 m?

K] svpiaLNIA 1,77 m?

SYPIALNIA 9,66 m?

3 SALON Z ANEKSEM 22,00 m?
KUCHENNYM

[¢) POW. OGRODU ~72,68 m’

RZUT skala1:100
[ 5m | 2m 1m




NOVA
SRODULA

BUDYNEK = PARTER LOKAL

B (0) M1
g " 34,31 m?

powierzchnia

pOLNOC

7ACHOD
QoHoSN

Bl <KOMUNIKACJA 6,59 m?

EAZIENKA 4,19 m?

Ed SALON Z ANEKSEM 23,53 m?
KUCHENNYM

[¢) POW. OGRODU ~46,11 m?
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RZUT skala1:100
[ 5m | 2m 1m
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